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INFORMATICS PRACTICES

CLASS XII


TIME : 3 HRS.









MM. 70

SECTION A

1. Answer the following questions :

(a) Define Data Warehousing and explain its usage. 
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(b) Draw an entity-relationship diagram to illustrate the case given below:

In a factory, a vendor can supply various items. Each vendor has got a vendor code, vendor name, vendor address and each item also has got an item code, item name, its price per unit. When a vendor supplies an item the transaction is recorded and the information about the transaction stored is date of supply, quantity supplied, order number, item code and vendor code. Map the E/R diagram of corresponding tables. Also identify the key fields.
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(c ) Why is database a key component of Business Computing? 
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(d) How are relationships shown in UML class diagrams?
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2. Answer the following questions:

(a) How do we specify comments in Visual Basic? How do we break a long line of code to a new line?
2
(b) What is the difference between SDI and MDI interfaces?
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(c) Explain the terms ODBC and Data Provider.
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(d) What is DataReport? How is it useful? Name its different sections.
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(e) What do you mean by Syntax and Semantics errors?
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3. Answer the following questions :

(a) Differentiate between DML and DCL giving suitable example in each case. 
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(b) What is NULL value ? What is the result of an arithmetic operation containing NULL value? 
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(c) What is the use of a Sub-Query ? Which query gets executed first, the parent query or the sub-query? 2

(d) How is a Before trigger different from After trigger.
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(e) What is the difference b/w Function and Procedures? What are actual and formal parameters?
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SECTION B

4. Read the following case study and answer the questions that follow :

Mr. Rouble of Passawasool Financiers frequently needs to calculate the interest and amount due from his clients. He asks his software programmer to design an interest calculator which will calculate the compound interest and amount due if a person takes a loan for 5, 10 or 15 years. The programmer opts for Visual Basic Language to develop this and creates the following form : 
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The List for the above form is as follows :

	Object Type
	Object Name
	Description

	Form
	frmInterestCalc
	The Main Form Object

	Text Box
	txtPrincipal
	To enter the principal

	
	txtRate
	To enter the interest rate

	
	txtInterest
	To display the compound interest

	
	txtAmount
	To display the amount due

	Option Buttons
	opt5years
	To select time as 5 years

	
	opt10years
	To select time as 10 years

	
	opt15years
	To select time as 15 years

	Command Button
	cmdCalculate
	To calculate the interest and amount

	
	cmdClear
	To clear all the entered data

	
	cmdExit
	To end the application


(a) Write the code to disable the textboxes txtInterest and txtAmount in the form load event of  frmInterestCalc. 
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(b) Write the code for cmdClear Command Button to clear all the textboxes and set default choice in the Option Buttons as 5 years. Also set the focus to textPrincipal.
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(c) Write the code for the Change event of the textboxes txtPrincipal and txtRate to ensure that the user enters only numeric values in them. 
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(d) Write the code for the Click event of the command button cmdCalculate to calculate
the compund interest and amount depending on the principal, rate and time. The
compound interest is calculated as P*(1+R/100)^T and amount as (Principal + Compount Interest). 
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5. Answer the following questions :

(a) Write a subprocedure that receives a day number and prints corresponding day of week.
(3)
(b) Find the output of the following code segment : 






(2)
sub one()

dim a as integer

a=10

print a

call two(a)

print a

end sub

sub two(b as integer)

a=15

print a

end sub

 (c) Rewrite the following code segment using  Select...Case instead of if...else...end if. 
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if marks >= 85

msgbox "Excellent"

elseif marks >= 60

msgbox "Above Average"

elseif marks  >= 50

msgbox "Average"

Else

msgbox "Need to work harder"

End if
(d)  A student of  WXYZ School, Jitesh wanted to make an application to find Even or Odd out of a given number. He had written the following code snippet and is unable to correct some of the errors in the code. You are required to help him in correcting the code segment. Find the errors and rewrite the corrected code underlining the correction made.
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private SubProcedure cmdFind_click()
if   mod(val(txtNumber),2) =  = 0 

msgbox “It is an even number”

els


msgbox “It is an odd number”

end sub

SECTION C

6. Read the questions given below and answer accordingly :

Write the output produced by the following part of code in PL/SQL. 
(A) Assume X to be a bind variable with an initial value of    9.
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BEGIN

For I in 1..4

LOOP

DBMS_OUTPUT.PUT_LINE (:X);

IF :X = 10 then

:X := :X+10;
ELSIF :X>10 THEN


:X := :X/10;

ELSE


:X := :X * 10;

END IF;

END LOOP;

END;

(b) 
	EMPNO
	ENAME
	DEPTNO
	SAL

	7839
	KING
	10
	5000

	7782
	CLARK
	10
	2450

	7934
	MILLER
	10
	1300

	7788
	SCOTT
	20
	3000

	7902
	FORD
	20
	3000

	7566
	JONES
	20
	2975

	7876
	ADAMS
	20
	1100

	7369
	SMITH
	20
	800

	7698
	BLAKE
	30
	2850

	7499
	ALLEN
	30
	1600

	7844
	TURNER
	30
	1500


Look at the Emp table given above and give the output produced by the following
PL/SQL code on execution : 
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DECLARE

Sum_Sal Emp.Sal%TYPE;

s_Sal Emp.Sal%TYPE:=2000;

s_Dept Emp.Deptno%Type:=20;

BEGIN

SELECT SUM(Sal)INTO Sum_Sal FROM Emp WHERE Deptno=s_Dept AND Sal>s_Sal;

DBMS_OUTPUT.PUT_LINE(TO_CHAR(Sum_Sal));

END; 

c) Find  the errors and rewrite the corrected code:
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declare



vempno numeric [4] ;    vempname varchar(20);
begin Boolean:=true;


start



select empno, ename into vempno, vempname from emp For empno=1234 and 2345


end;

d) Write the commands to do the following:

i) Create a synonym DEMP for the table EMP owned by the user DEMO. Also write the statement that allows the user SCOTT to read the data from this table.
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ii) Create a sequence seqDeptno that generates numbers in the range of 10-1000. The difference between two subsequent numbers should be 5.
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7. Answer the questions based on the table Employee given below :

Table : Sports
	Column Name
	Data Type
	Size
	Constraint

	SPORTCODE
	NUMBER
	5
	PRIMARY KEY

	SPORTNAME
	DATE
	
	NOT NULL

	INSTRUCTOR
	VARCHAR2
	50
	NOT NULL

	FEE
	NUMBER
	4
	Range 500-3200


(a) Write the SQL command to create the table SPORTS including the constraints. 
2

(b) 
i)Write a SQL statement to display the sportcode and sportname of all sports whose fee is same as that of VolleyBall.
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ii) Write a PL/SQL block that uses a cursor to display all the records from Sports table.
2
(c) Write a PL/SQL function that uses the Hero’s formula:  [ Area=(s*(s-a)*(a-b)*(s-c))1/2 ]

to calculate the area of a triangle, given that the sides of the triangle are a,b and c respectively and S=(a+b+c) /2. The function should take the three sides as parameters and return the area.

3
(d) Write a trigger that displays following message every time a record is added in Relation SEMINAR.
2
A seminar on <Topic> is scheduled on <date> 
      Relation: Seminar (Code, Date, Topic, TargetDesignation) 
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